
Thursday 23rd April 

I can subtract using column addition.  

Answers  

1) 654 – 42 = 612 

2) 189 – 74 = 115 

3) 484 – 32 = 452 

4) 989 – 57 = 932 

5) 698 – 125 = 573 

6) 747 – 314 = 433 

7)  655 – 101 = 554 

8)  987 – 361 = 626 

9) 874 – 511 = 363 

10) 654 – 123 = 531 

Today we will be looking at column subtraction. You will have to borrow. Please see the video 

attached for examples.  

1) 231 – 60 =  

2) 769 – 72 =  

3) 904 – 32 =  

4) 619 – 132 =  

5) 228 – 194 =  

6) 541 – 235 =  

7)  987 - 559 =  

8)  456 – 319 =  

9) 861 – 627 =  

10) 338 – 196 =  

 

 


